Q15.The unit of magnetic field B is:
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applied and directed at an angle 45° to the x-axis lying in xy plane. Then the magnitude of
magnetic force on the electron is:
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Q17. A proton is moving in a circular orbit of radius 20 cm under a uniform magnetic field 0.5 T

perpendicular to the velocity of the proton. Then the velocity of this proton is:
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~ Q17- The magnetic force acting on the proton equals:
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Q18- If the magnetlc force acting on the wire equals 12 mN the length (L) is:
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Q19- What is the radius of the rotating motion for a particle of 10 mg and 5 mC moving in a
perpendicular magnetic field of 2 T with a speed 500 m/s ?

A) 10 cm B) 20 cm. C)25cm (@9‘500"_)
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Q11- The result of two perpendlcular magnetlc fields of the same magnitude B is:
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Q12- A magnetic field of 20 T is acting on a charge of 10 nC having a velocity 50 m/s

perpendlcular to the field with a force of:-
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Q13- A straight wire carries electric current of 100 4. If the wire is 1 m long and 1s
exposed to a perpendicular magneuc field of 3 T, the induced force due to that 1s:

A) 0.003 B)0.03 C) 33.33 [1/1)/2 00 Z
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* Q14- In the velocity selector, the particle speed equals the ratio of the electric field to:

A) Electric Potential Z l/B')/ Mégnetic ﬁleﬂ - C) Time D) Length
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Q20- A proton with a kinetic energy of 0.32 x10°'° J follows a circular path in a magnetic field
region of a magnitude 30 mT. The radius of this path equals to:

A)3.4 cm \Craki C)2.55 cm D) 5.1 cm
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' E=4kV/mand B=8mT

Q21- What is the speed of an electron that passes in a straight line through a velocity selector
if E=4 kV/mand B=8 mI?:

A) 100 km/h B) 500 m/s : m:ﬂ D) 32 km/s
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Q21- A charged particle of 3 C is moving perpendicularly with a magnetic field of 4 T If its
speed is 200 m/s, the magnetic force acting on the particle equals:
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Q22- The electric field (E) needed to maintain the charged particle moving in a straight line
inside a velocity selector equals:
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Q23- The direction of the magnetic force acting on the charge (Q22) is:
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Q23- A proton, moving at 5 x 10° m/s through a magnetic field of 1.5 7 experiences a
?i%n.etic force of magnitude 9 x 107" N. The angle between the proton's velocity and the
ield is:
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Q24- The electric field (E) needed to maintain the charged particle moving, in a straight line
inside a velocity selector equals:
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B) 2.5x10° m/s C) 8.1x10° m/s

A 5.7x10° m/s
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19, If an electron having' a speed of nearly
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Q22- The direction of the magnetic force exerted on the charge ¢ =-2 mC is:

yi V= 60000 m/s
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Q23- The magnetic force acting on the charge (in Q 22) equals:
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Q24- Two straight and very long conductors are separated by 20 cm. If the current
passing through each is 10 4, what is the force per unit length acting on each conductor?

D) 1680

A) 107 B) 107 w D)10°
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Q25- A 20 mC charge moves in a circular orbit making 200 turps/s. If the magnetic field,

perpendicular to the motion, is 3 T, what is the mass of the particle?

A)3x10* B) 2.34x107 C) 5x107* ﬁ) 4.77x10'5)




